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Reading Passage (2)

About 200 million years ago, many species\of-animals stopped existing from the
face of the Earth. Scientists previously thought that the series of extinctions
happened over a period of 15 to%\t\xillion ears. Recent discoveries suggest
that, however the extinctions may have happened over a much shorter period
of time, perhaps less than 8500 ars. One explanation for the very sudden
extinction may be that a larger erom the spag%hit the Earth at that time and
is responsible for a ing about Zoiﬁ‘ometers. If researchers can find

a strong reason th did hit thg@arth, it would give more support
to the theory o

N . o, .
extinction happe it did not necessarily occur in the rest of the word.

14- The word “it” in line 6 refers to ............... .
1) the space rock 2) the reason 3) a researcher 4) the Earth

15- Which of the following word could best replace the word “hit” as used in
the passage.

1) disturbed 2) damaged 3) knocked 4) annoyed




